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General Instructions :

305/1

(i)
(ii)

(iii)

(iv)

(v)

This question paper is divided into four sections.

Section-1 contains 13 multiple choice questions carrying one mark each. You have to
choose a correct option out of the given options and write the same in your answer
book. Answer any ten questions from this section.

Section-2 contains 12 short-answer type questions carrying two marks each. Answer
any ten of these questions. The answer to each such question should not normally
exceed 50 words.

Section-3 contains six short-answer type questions carrying three marks each. Answer
any five of these questions. The answer to each such question should not normally
exceed 70 words.

Section-4 contains five long answer type questions carrying five marks each. Answer

any three of these questions. The answer to each such question should not normally
exceed 150 words.
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SECTION -1
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Answer any ten questions from this section. You have to choose one correct option
out of the given options and write the same in your answer-book.

TS THeI1h STHH T 1 Tcish AT aferd 3R 5T UgaT Sl & 98 & 1
(30 T o fafy
(@) TEE AT g
@) ToRaT e e fafy
The technique which involves identification of costs with each cost driving activity is
(a) Marginal Costing
(b) Standard Costing
(c) Activity based Costing
3T ST T T 20% 1 & U7 2T €, T SI-81 @It | of STrar S et @1 g 1
(@) T
1
(&) I 3
2
™) ™ 3

When a contract work is completed only to the extent of 20% of the contract price,
profit to be credited to P&L A/c is

(a)
(b)
(©

Nil
1/3 of profit
2/3 of profit



3. 1= 9 9 % gt fowar utskar A fafy st =@l & 2 1
(31) AT Sl T R gREdeie ATl 7 Ster
(&) I 3ARA
(@) TH Y ST SR BT FHhetT

Which one of the following is not a feature of Process Costing ?
(a) Classification of costs into fixed and variable
(b) Equivalent production

(c) Emergence of more than one product

4, G B AT T 3§ 1
(3) aTEdiae foska 3R TH-Taesg o (F=de &) At foska | 37
@) oA foha 3T SeE AT | 3R

@) odtaeh ok 317 Wl and | T

Margin of Safety means :

(a) Difference between actual sales and the sales at break-even point.
(b) Difference between actual sales and cost of production.

(c) Difference between actual sales and fixed cost.

(|) | e
Marginal cost represents
(a) Variable Cost

(b) Fixed Cost

(c) Standard Cost

6.  THIA0T SO B Fad B © 1
(30 i o
(@) HET AT IS
@) Ui & w9
Control ratios are expressed in terms of
(a) monetary value
(b) quantity or grade
(c) percentage
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7. HMH AN (O o R
(GT) HlAh AU I
@) PR I
@) T faeeuor gRT ST R S

The objective of standard costing is

(a) to maintain standards
(b) to delegate authority
(c) to control costs through variance analysis

8.  VceT ST BT A @ STl &
(31) ol AT ol §
@) Hoet foxdT o o
@) N AR fodig 3T o §

Direct wages paid are shown

(a) only in cost accounts
(b) only in financial accounts
(c) both in cost and financial accounts

9. 3R TME! A T 10,000 & 3T A T 5,000 € T SWEH B

(3 T 15,000
@) 20,000
@) T 50,000
If fixed cost is ¥ 10,000 and profit is T 5,000 then contribution is
(a) T 15,000
(b) 20,000
(c) 50,000

10. FHfeAfEd 9 9 g8 o (HuRoT @6t fafar @ v oty 7@ €, afess RaifeT @i s dobi ¢
(31)  SUHF (i) AN fary
@) G o ot
(@) UREeH AN fary

This one of the following is not one of the methods of costing but a technique of
reporting :

(a) Job Costing
(b) Marginal Costing

(c) Operating Costing
305/1 4



11.

12.

13.

14.
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T AT 819 o it gl SUgerT oA faf &

(37) S AN fary
(@) UREeH AN fary
(@) UIHAT AN fary

The most appropriate costing method for a nursing home is

(a) Contract Costing
(b) Operating Costing
(c) Process Costing

ST TN T o TeAT ST TS 31T UishaT ol TN il ool Yoid o Thed &

(31) ST g
(@) R S5
@) FHEBR T

A document setting out the budget organization and procedure for preparing a budget

is known as

(a) Budget manual
(b) Master budget

(c) Functional budget

TH ‘HE W T (Th-3 W) TAT Wiet i STavaeshal el ged ;

(31) S ToIST AN et

(@) I AN oty

@) e T faty

Work-in-Progress account need not be opened in
(a) Back flush Costing

(b) Contract Costing

(c) Job Costing

T -2
SECTION -2
30 @ 4 U [l T/ Ul % I Al |
Answer any ten questions from this section.

FAT-GROTH STUT 7 € 2 THR! AT HH Y S § 2

What is p/v ratio ? How is it calculated ?
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15. (i) owEdre
(i) TFR T
(i) 2T I 3R
(iv) EeAd
TART St ST ATl AN 3hTE i Famsy |
State cost unit used in
(1)  Hospital

(i) Boiler house
(i) Passenger transport and
(iv) Hotel

16. ABC oIl § ‘O 998 9 379 7 T & 2
What is meant by ‘Cost Pool’ in ABC system ?

17. W AN fatg = i g G 9qmy |

Name any two limitations of Standard Costing.

18. o e s € 2
What are budget reports ?

19.  3UHME (Siel) TTT {aty bt IS I FRand ey |

Write any two features of Job Costing.

20. o=l 9IR SE o AT SAey STel 35T AT far SUgert ¢ |

Name any four industries suitable for Contract Costing.

21, T SR faiig @il s ool s Sl ST o & 9

What is the advantage of reconciling cost and financial accounts ?

22, % TR AT fafY o HEemsy |
Explain Back Flush Costing.

23, Teran smenfia e freior fafy w1 wwemET

Define Activity Based Costing Method.
305/1 6



24.

25.

26.

27.

28.

29.

30.

31.
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=1 3= o e e fraior =6 @i 9@ fata s e e w0 2

(1)
)
€)
(4)

TATSSTETST T
=T e

T oY (ST
et =T

What method of costing would you recommend for the following industries ?

(1) Aeroplane builders

(2)  Sugar industry

(3) Printing press

(4) Toys making

UhHS (M) T % HIE g A T | 2

State any two advantages of cash budget.

g -3
SECTION -3

W T 1 U fh=] ute TRAT 3 3T T |

Answer any five questions from this section.

foran emeniya e fafy o oy delw 9 99eeT | 3

Explain in brief the advantages of activity based costing system.

e AT T A ST i@l At & 319 3T THerd © 9 3
What do you mean by Standard Cost and Standard Costing ?

AT TSI T & 2 g T ot ¥ o e e € 9 3
What is flexible budget ? How is it different from fixed budget ?

SUHTE (SE) ANT AT T & 2 ABC SR S & YR TRR 108 % fow
FHeeh TR § Tk SUHT AT G F7ET | 3

What is Job Cost Sheet ? Prepare a job cost sheet for job no. 108 of ABC
Manufacturing Co. with imaginary figures.

g TN & 3o i 9 & 7 3¢ GHHATT | 3

What are the two types of contracts ? Explain them.

TE IAIE 37 M7 IEAIE i T DT SR ST Ty | 3

Compare and contrast joint product and by-product.
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32.

33.

34.

35.

36.
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SECTION -4

W T 1 U fhl i WRAl & SR A

Answer any three questions from this section.

UshaT ST fafer o & 9 98 SUshT (Sie) AN Tty ¥ fohe aie e & 2

What is Process Costing ? How is it different from Job Costing ?

TE el T & T T8 3mavas T2 foh nd ol 9 fehrer U oo foadig o @ e
RO § THeTd &, S 2 SHeey |

It has been stated that the results worked out from the costing records and those
worked out from the financial accounts may not necessarily agree, why ? Explain.

- fa=T (Fqe wR) fog faveor @ & @ € 2 fohdt saee o 9n-laws o e
HIGREZISIGIE

What are the advantages of break-even analysis ? How is break-even point of a
business determined ?

URETer ST fafer o & 2 39! foeieand o € 2 9 ¥ w0 9R A 1 Sooid R STl
BT ST AT § |

What is Operating Costing ? What are its characteristics ? Mention atleast four
industries where it is used.

I FREA0T T & 2 SIS EA0T | Ao Je =Rl o T |

What is budgetary control ? Explain the main steps involved in budgetary control.



